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A

This student entered values with a sum greater than 410, as required. The response shows evidence of
successfully interpreting the context, retrieving needed information from a prior problem, and inventing a
set of values that satisfy given constraints.

This student entered values with a sum greater than 410, as required. The response shows evidence of
successfully interpreting the context, retrieving needed information from a prior problem, and inventing a
set of values that satisfy given constraints.

This student appears to have filled in grade levels rather than values. This response does not show
evidence of successfully interpreting the context or the mathematics of the problem.
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Although the sum of the values in this response is 4,000,003, the response receives full credit because the
total is greater than 410. This response shows evidence of the student’s ability to interpret the mathematics
of the problem and create a set of values that satisfy given constraints, but shows unclear evidence of
successfully interpreting the meaning of the values in context. Still, the response fulfills the requirement
for full credit.

E 0

This student entered values with a sum that is less than 410. The response does not show evidence of
correctly interpreting the problem, or creating values that satisfy the given constraints.
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